



BENSENVILLE VILLAGE CLERK'S OFFICE

12 South Center Street
Bensenville, IL 60106

Office: 630.350.3404
Fax: 630.350.3438
www.bensenvilleil.us

VILLAGE BOARD

October 7, 2025

President
Frank DeSimone

Board of Trustees
Rosa Carmona

Ann Franz

Marie T. Frey

Marie R. Hey
McLane Lomax

McLane Lomax
Nicholas Panicola, Jr.

Nicholas Paltucci
Armando Perez

Village Clerk
Nancy Quinn

Village Manager
Daniel Schulze

Mr. John Link
66 Main Street #55
Farmingdale, New Jersey 07727

Re: October 6, 2025 FOIA Request

Dear Mr. Link:

I am pleased to help you with your October 6, 2025 Freedom of Information Act ("FOIA"). The Village of Bensenville received your request on October 7, 2025. You requested copies of the items indicated below:

"2024 MFT Pavement Patching Program Bid Results."

Your FOIA is hereby granted in full with the enclosed records. No redactions have been made.

Do not hesitate to contact me if you have any questions or concerns in connection with this response.

Very truly yours,

Corey Williamsen
Freedom of Information Officer
Village of Bensenville



Project: 2024 MFT PAVEMENT PATCHING (24-00000-02-GM)

BID TABULATION SHEET

BIDS OPENED: AUGUST 6, 2024 AT 11:00 A.M.

ITEM NO.	PAY ITEM	UNIT	QUANTITY	ENGINEER'S ESTIMATE		A LAMP CONCRETE CONTRACTORS, INC		BROTHERS ASPHALT PAVING, INC	
				UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	BITUMINOUS MATERIALS (TACK COAT)	POUND	3650	\$1.00	\$3,650.00	\$0.01	\$36.50	\$0.50	\$1,825.00
2	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	7,940	\$7.50	\$59,550.00	\$7.15	\$56,771.00	\$7.50	\$59,550.00
3	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5,MIX "D", N50	TON	915	\$105.00	\$96,075.00	\$140.00	\$128,100.00	\$120.00	\$109,800.00
4	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	35	\$50.00	\$1,750.00	\$93.00	\$3,255.00	\$100.00	\$3,500.00
5	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	156	\$100.00	\$15,600.00	\$36.25	\$5,655.00	\$60.00	\$9,360.00
6	MOBILIZATION	L SUM	1	\$5,000.00	\$5,000.00	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00
7	TRAFFIC CONTROL AND PROTECTION STANDARD 701501	L SUM	1	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00	\$12,000.00	\$12,000.00
8	TRAFFIC CONTROL AND PROTECTION STANDARD 701801	L SUM	1	\$2,500.00	\$2,500.00	\$1.00	\$1.00	\$1.00	\$1.00
9	TRAFFIC CONTROL AND PROTECTION STANDARD 701901	L SUM	1	\$2,500.00	\$2,500.00	\$1.00	\$1.00	\$1.00	\$1.00
				TOTAL:		\$196,625.00			
								(1)	\$222,819.50
								(2)	\$222,819.50
								(3)	\$0.00
								(4)	\$222,819.50
								(1)	\$201,037.00
								(2)	\$201,037.00
								(3)	\$0.00
								(4)	\$201,037.00



Project: 2024 MFT PAVEMENT PATCHING (24-00000-02-GM)

BID TABULATION SHEET

BIDS OPENED: AUGUST 6, 2024 AT 11:00 A.M.

BID TABULATION SHEET BIDS OPENED: AUGUST 6, 2024 AT 11:00 A.M.				ENGINEER'S ESTIMATE		BUILDERS PAVING, LLC		CHICAGOLAND PAVING CONTRACTORS, INC	
ITEM NO.	PAY ITEM	UNIT	QUANTITY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	BITUMINOUS MATERIALS (TACK COAT)	POUND	3650	\$1.00	\$3,650.00	\$1.00	\$3,650.00	\$0.01	\$36.50
2	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	7,940	\$7.50	\$59,550.00	\$9.00	\$71,460.00	\$5.00	\$39,700.00
3	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5,MIX "D", N50	TON	915	\$105.00	\$96,075.00	\$130.00	\$118,950.00	\$140.00	\$128,100.00
4	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	35	\$50.00	\$1,750.00	\$50.00	\$1,750.00	\$20.00	\$700.00
5	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	156	\$100.00	\$15,600.00	\$70.00	\$10,920.00	\$20.00	\$3,120.00
6	MOBILIZATION	L SUM	1	\$5,000.00	\$5,000.00	\$21,077.98	\$21,077.98	\$16,643.50	\$16,643.50
7	TRAFFIC CONTROL AND PROTECTION STANDARD 701501	L SUM	1	\$10,000.00	\$10,000.00	\$17,000.00	\$17,000.00	\$1,500.00	\$1,500.00
8	TRAFFIC CONTROL AND PROTECTION STANDARD 701801	L SUM	1	\$2,500.00	\$2,500.00	\$0.01	\$0.01	\$100.00	\$100.00
9	TRAFFIC CONTROL AND PROTECTION STANDARD 701901	L SUM	1	\$2,500.00	\$2,500.00	\$0.01	\$0.01	\$100.00	\$100.00



Project: 2024 MFT PAVEMENT PATCHING (24-00000-02-GM)

BID TABULATION SHEET

BIDS OPENED: AUGUST 6, 2024 AT 11:00 A.M.

ITEM NO.	PAY ITEM	UNIT	QUANTITY	ENGINEER'S ESTIMATE		J.A. JOHNSON PAVING COMPANY		RW DUNTEMAN COMPANY	
				UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	BITUMINOUS MATERIALS (TACK COAT)	POUND	3650	\$1.00	\$3,650.00	\$0.01	\$36.50	\$0.64	\$2,336.00
2	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	7,940	\$7.50	\$59,550.00	\$6.50	\$51,610.00	\$7.25	\$57,565.00
3	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5,MIX "D", N50	TON	915	\$105.00	\$96,075.00	\$125.00	\$114,375.00	\$134.16	\$122,756.40
4	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	35	\$50.00	\$1,750.00	\$10.00	\$350.00	\$78.40	\$2,744.00
5	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	156	\$100.00	\$15,600.00	\$63.00	\$9,828.00	\$48.00	\$7,488.00
6	MOBILIZATION	L SUM	1	\$5,000.00	\$5,000.00	\$11,688.00	\$11,688.00	\$9,600.13	\$9,600.13
7	TRAFFIC CONTROL AND PROTECTION STANDARD 701501	L SUM	1	\$10,000.00	\$10,000.00	\$6,712.50	\$6,712.50	\$11,914.10	\$11,914.10
8	TRAFFIC CONTROL AND PROTECTION STANDARD 701801	L SUM	1	\$2,500.00	\$2,500.00	\$100.00	\$100.00	\$1.00	\$1.00
9	TRAFFIC CONTROL AND PROTECTION STANDARD 701901	L SUM	1	\$2,500.00	\$2,500.00	\$100.00	\$100.00	\$1.00	\$1.00
				TOTAL:		\$196,625.00			
							(1) \$194,800.00	(1) \$214,405.63	
							(2) \$194,800.00	(2) \$214,405.63	
							(3) \$0.00	(3) \$0.00	
							(4) \$194,800.00	(4) \$214,405.63	



Project: 2024 MFT PAVEMENT PATCHING (24-00000-02-GM)

BID TABULATION SHEET

BIDS OPENED: AUGUST 6, 2024 AT 11:00 A.M.

ITEM NO.	PAY ITEM	UNIT	QUANTITY	ENGINEER'S ESTIMATE		SCHROEDER ASPHALT SERVICES, INC.	
				UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	BITUMINOUS MATERIALS (TACK COAT)	POUND	3650	\$1.00	\$3,650.00	\$0.01	\$36.50
2	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	7,940	\$7.50	\$59,550.00	\$5.50	\$43,670.00
3	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5,MIX "D", N50	TON	915	\$105.00	\$96,075.00	\$140.00	\$128,100.00
4	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	35	\$50.00	\$1,750.00	\$50.00	\$1,750.00
5	CLASS D PATCHES, TYPE IV, 4 INCH	SQ YD	156	\$100.00	\$15,600.00	\$38.00	\$5,928.00
6	MOBILIZATION	L SUM	1	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
7	TRAFFIC CONTROL AND PROTECTION STANDARD 701501	L SUM	1	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00
8	TRAFFIC CONTROL AND PROTECTION STANDARD 701801	L SUM	1	\$2,500.00	\$2,500.00	\$1.00	\$1.00
9	TRAFFIC CONTROL AND PROTECTION STANDARD 701901	L SUM	1	\$2,500.00	\$2,500.00	\$1.00	\$1.00
				TOTAL:	\$196,625.00		
						(1)	\$189,486.50
						(2)	\$189,486.50
						(3)	\$0.00
						(4)	\$189,486.50